T 1
1. (d) 2. (b) 3.
7. (a) 8. (0 9.
13. (b) 14. (d) 15.
19. (d) 20. (a) 21.
25. (b 26 45 27
. (b) © 63 .
29. YAHS UHI &
31. =& 32. 1,-1 33.
gx—+—x£
36. -1 37. 4 b f
40. faoid 41. R
45, 1011 1.3
100 5 8
50. TH 51. IF 52.
56. 9@ B7. 37GA BS.
62. IITI 63. IF 64.
68. TT 69. 3ITa 70.
74. ITFI  75. A 76.
80. TH 81. 3T 82.

(a)
(b)
(a)
(a)

35
45

10.
16.
22.

28.

30.

34.

38.

42,

-3 -4

53.
59.
65.
71.
77.
83.

STRH(

(d) 5. (a) 6. (a)
(b) 11. (a) 12. (o)
(a) 17. (b) 18. (d)
(a) 23. (d) 24. (a)

35
40

- o .

ﬂm—5E 35. (657)"
8 8 )

Afyres 39, URfyd ®9 ¥ W

<';Iv‘l=[43_—744§
5 4

48. 33IEF 49. JAFA

dqHgI  60. IHEA 61. AHA
dqEI  66. IHA 67. §A

FET 72, FAHI T73. ATA
FET 78, FAHI T79. IAHA
qcq 84. JA¥F 8b. JATA
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Tfura

86. JHF 87. JAHF 88. §HA 89. ¥ 90. ¥4 91. ¥&

92, ¥ 93. 93 94. 9T 95. A 96. A 97. 3JAHA

98. ¥ 99. ¥a 100. .5 5o 7T T T o

101, 2120 00 @) B 226
‘-4’ 28 ’ 9 35

25 —4 17
106. (a) 8 (b)7—5 (c)7—O (forazor ferm) 107. 9= O

7 1 -11 3 -88 1
111.(a)6 — (b)-3 - (¢) — A -1— (d) —3A1 - 29 —
8 3 8 8 3 3
142 7 2 32 41
—T9— (b= = @@=
112.(a) - 5 Bz @5 g

113.%@3%-1@@%@@&—1@@%

3
114. ¥ 18 115. 85km/h 116. Em'CIT 1.5m 117. %1,21,000

118.16 g,ar@ 119. 28 120. 1920 121.3864, ¥720,3432
122. ¥ 32,000, ¥ 12,000, ¥ 16,000
123. WE=d 1@ wuarHg o
124. (i) wAfafEg o
(i) = W TOn T faaRer o
(iii) gE=™ T
(iv) IReT F=mell &1 I d@ms
(v) ufa demedi &1 U dcHes

125. i) — i) > 126 13,5,1 127. =2 128 20
: 9 10 16 8 4 3 " 921
129. -39 130. — 131. = 132 12345
a "5 66666
133, + ok L 134. 12 135 11
L] 5 5 L] L] 24m
136. 25250253 137,00 @) - 138. 3.2°F
= P 5 . (i) (i) 5 . 3.

ST 411




-48 6 19 209

—q -6—= - —m ——m
139. — - 140. -1 141. (@) 14 ® o0
75 11 3
. —sgm 3 2—sqcm — Y]
142. 7: 5559 3554 143. ¢
3 13
—km —km
144. () 745 (b) 500 () =it

145. (a) 58%km (b) 117ékm
146. (a) o © (b) TS, FiE
© 5 @ aFm () B> H > 5 > T e

147. 97lcm, 98écm, 98Lcm, 97£cm
25 9 25 50

97lcm<97£cm <982L5cm< 98%cm 148. —m

1731 381 568 159

.9 | =© S . _8——
149. 71255007 Tiggs: T Ogyg. F:-8500

616 308 571 607

foer: ——

150. SJTHFI??T:W 5 o T 10’

619 641 651
TSN W,%ﬁ'ﬂmﬂ. W,%‘Hﬁﬁm. o0

624312

706 353
K 10 5 ° -

- 565_113
" 10 5 °

e 10 2

2] YT

645 _129 576 _283 ___ 669

WL T, Wﬂ.w— 5 T

598 299 637 589
T 7= A o I =Y TR
. 628 314 . 608 304

e et : o=~ A =

A, Told, feur=e Uew, Herre, s, . Uf¥=m 9, helesh, TSI, ST
< |

7Y, foeR, TSR, ST WRY, SAifSsm, oW, Hed Weu

412 u9q USfteRt TIUTd - el 8
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151. 32%cm 152. #6t: ¥ 315, FR : T 84
(D) 3w
1 O A wEfer 32 | 18 | 4 |-14
38 38 38 | —38
-18 | 21 | 24 | 104
-57 |-133 | 38 | 152
22 70 25 | =20
38 95 95 | -95
i -16 | 45| 60
19 -38 | 57 | 114
2: chiddas
g3+
1: Rational 2: Additive 3: Commutative
4: Reciprocal (or Inverse) 5: Indefinitely 6: Division
7. 1 8: number
Thig
1: Infinite 2: Associative 3: Multiplication
4: Natural 5: Not defined 6: inverse
3: wRelt
w4 e ue = w0 4 e ug =
-2 1
(1) = S(PIN (6) 5 GAIN
2 4
(2) 3 TYPE | (7) = PROOF
3 -1
(3) 1 WIDH | 8 @ 5 RAIN
-1 1
(4) 5 HosT (9) 1 AWAY
3 -1
(5) 16 SHARP | (10) = (SWEET
P Y T H A G (@) R A S
m 2 @ @ (5) (6) (7) (8) 9) (10)

ST 413
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x HHT I
3
4

’T
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3
20

2
5

m
£
m
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TohTg 2

1.

7.
13.
19.
25.
31.
37.
41.
45.
50.
55.
61.
67.
73.
79.

(d)

(b)

(d)

(@)

(d)

(c)

20
o, 92
/ST
14
3T

qcq

qcq

qcq

2. (a) 3. (b)
8. (0 9. ()
14. (d) 15. (b)
20. (d) 21. (d)
26. (o) 27. (d)
32. (b) 33. (d)
38. U = dm
42. 1,2,3,4,5,6
46. 35-40
51. WRER 52. o
56. Wifkr B57. X, Y
62. ¥ 63. ¥
68. ¥ 69. 393
74. FAFAF 75. IEA
80. 33IHFT 81l. HAHFA

(d) 20-30 (e) 30-40

83.

85.

(a) o9

1
(b)

(f) 10

E

A
11 —

10 —

8_
7 —
6 =

5—
4—
3_
Q2 —
1

10.
16.
22.
28.
34.
39.
43.
47.

58.
64.
70.
76.
82.

(c)
(d)
(c)
(b)
(d)
(d)

20-30
qcq
S|
qcq

(a) 20

0 10 20 30 40 50 60 70 80
Afyerad =@ (km/h) —>

84. (a) 329 (b) 168 (c) 301 (d) 2 wer =1 Afereh

(c) 72

(d) 6

5. (d) 6. (b)
11. () 12. (0
17. () 18. (a)
23. (b) 24. (d)
29. () 30. (d)
35. () 36. FuWE
40.

44. wfas

48. 8 49. 22
53. 2 54. 5
59. W1  60. A
65. 9@ 66. EA
71. ¥ 72. €A
77. FEA 78, A
(b) 60 (c) 4

(e) WfFar & T=a

ST 415



SAEHTAT

86.

87.

88.
89.
91.

93.

416 w99 USfteRt TIUTA - el 8

1L 2,1 4,2
(@) 5 (b) © 573 d ® 573
(a) sfeq g1 ghafem © (b) wfed = ot wehar & oteen sfeq T oft
Bl Wkl 2
(c) wfeq & gifeea € (d) wfed e erE9e ot B Hehal ©
(e) =fed el erEye ® () ofed & ff Tehar © sten & o 8 weha
o 180,  SfUSH 135,  wmieie fawm 30, fawm 105, & 90
28 90.(a)42 (b) 150-155 (0) 5
TS oo forg AREAT
0-2 0
2-4 NN 6
4-6 W 6
6-8 NN 11
8-10 I 2
Eagiiolu) 25
%8
. —— Tt R 1
EUlc R foem feorg AR
4 -8 I 2
8-12 M 7
12 - 16 WUNEER 13
16 — 20 M | 5
20 -24 | 2
30
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94.

I

0 4 8 12 16 20 24 28
T SR —

95. |t 3T oo forg AT
25 -30 W 2
30 -35 NN 7
35-40 NN 11
40 - 45 M1 7
45 - 50 1] 3
FA AT 30
(@ 25-30 (b) 35-40
96. 97. (i) 1 %Us
(i) 2.57W
B
108°
B& (iii) 0
98. 99. (a)

1
7
4
15

>



SAEHTAT

100. | =7t 3t oo forg AT
30 -35 1] 3
35 -40 1] 3
40 - 45 1] 3
45 - 50 1] 3
50 - 55 N 5
55 - 60 [11] 4
60 — 65 N 5
65 - 70 W 2
70 - 75 NN 7
I 35
(@ 9 (b) 70-75
101. 12, 14, 06, 2, 1, & =Afeq =35
102.
10
9
8
T 7
6
E 5
4
3
2
1
V1o 15 20 25 30 35 40
it T ——>
103.
14 +
12+
=
4_.
o
] N
0V 50 100 150 200 250 i
I A —>

418 wvT USfteRt TfUTA - el 8
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104.

105.

106.

108.

109.

111.

112.

113.

114.

(a)
(a)

10-15, 15-20, 20-25, 25-30, 30-35, 35-40

5
10-15
15-20
5

2,5

1 b
2 (b)
1

5 (b)
32% (g (b)

107.

110.

7
(c) 3

Blw ®lw

1
(c) 0

(d O

28% Q © 22%
<,

32% @ T (0 30%

1 (d) 18% X@X




115. = - %15,000
RISk - %10,000
FX HT - %12,500
SHIRT e - %5,000
F - %2,500
wue - %2,500
TS - %2,500
116. (a) T9ER T
(b) e
(©) 39%
(d) 65%
() s<TIe, daHifean

(D) Ty, B X wRferat

1. K
THA 1
EIE| 1
EC 1
fast 1
(1) 2 (2
(5) 26 (6)
6
9 @ 52
12
(iv) 5
10
(vii) 13
(xii) 13

420 v USSRt iU -

Q

— e
— e e O

52
26

3

26
6

26

(viii) 59

HaT 8

AN

= e = O
— e
— = WO

4 g9, T, 32, fast

109 8 7 6
1 1 1 1 1
1 1 1 1
1 1 1 1 1
1 1 1 1 1
3) 13 @
(7) 9% THR o 3
2 1
. _q‘l‘ -
@ 55" 96
3 2 1
3" 5"%%
N
(ix) 52

8 12

(i) =5

2 A Im
1 1 13
1 1 13
1 1 13
1 1 13
52
1
26
131
. _q‘l‘ —_—
(xi) 559 7
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ofom A oftom A Tftomy Bl
(1,5) 6 4, 1) 5 (6, 3) 9
(1,6) 7 4, 2) 6 (6, 4) 10
2,1 3 (4, 3) 7 (6, B) 11
2,2) 4 (4, 4) 8 (6, 6) 12
(2,3) b (4, 5) 9
(2,4) o6 (4, 6) 10
2,5 7 5, 1) 6
(2,6) 8 (5, 2) 7
(3,1) 4 (5, 3) 8
3,2) b (5, 4) 9
(3,3 ©6 (5, B) 10
3,4 7 (5, 6) 11
(3,5 8 (6, 1) 7
3,6) 9 (6, 2) 8

oMl 1w EIRETI
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10

11

12

IENIEREE]

M MM M
MMM
MMM
M
M

MN MNP NN N

20
18
18
08
09
33

106

© ® N O =

2.
3.
4.
5.
1.

422 yyq ySfteRt TIUTA - el 8

WEaE 3T
w

Pie Chart
Five
Range
Event
Whole
One

. Equal
EIEh]
Histigram
Raw
Class Size
Frequency
Zero




Tfura

1. (o) 2. (a) 3. (0 4. (b) 5. (b) 6. (0
7. (b) 8. (b) 9. ¢ 10. b 11. (b)) 12. (b)
13. (b) 14. ( 15. (b) 16. (d) 17. (b) 18. (b)
19. (a) 20. (d 21. () 22. (@ 23 (¢ 24. (d
25. 8 26. 8 27. 6 28. 4 29. 2n  30. 3
31. 3025 32. 53 33. 6 34. 10,00035. 10,00,000
36. 2 37. 049 38. 36 39. 9 40. 8,15 41. 1.4
42. 1.728 43. fawm  44. 35 WK 45. 5 46. 2
47. 2 48. 3 49. ¥4 50. @A B5l. ¥ 52, TA

53. 3T 54. ¥ 55. WA 56. TA B7. JITA B58. ITA
59. 3TA 60. WA 61. T 62. TF 63, ITA 64. JITA
65. 3T 66. WA 67. IUT 68. IFA 69. TA  70. ITA
71. 3@A 72, ¥ 73. ¥ 74, FEA 75. TA  76. ITA
77. I 78, ITA 79. TA 80. TA 81, ITA 82. ITA
83. 3T 84. JITA 85. IHA 86. IAA 87. 1,4,9, 16,25
88. 27,216, 729 90. 1+3+5+7+9+11+13+15+17
91. (a) 484 =2x2x11 x 11 qoi =t

(b) 11250 =2 x 3x3x5x5x5 x5 gof =nf =& 2

(c) 841 = 29 x 29 quf =i

(d) 729 =3x3x3x3%x3x3 qui &
92. (2)128 =2x2x2x2X2x2x2 ol 5[ & ?

(b) 343 = 7X7X 7, &, & qui A

() 729 =3x3x3x3x3x3, &, TH q0i =1

(d) 1331 =11 x 11 x 11, &, Tk qof A

93. (a)1012 = 10201 (b)722 = 5184

94. @, HfH 62+ 8 =102 95.(3,4,5) 96. (a) 105 (b) 69
97. (a) 8 (b) 13 98. &, 11 99. &, 75

100. 3, 4, 5 5, 12,13 101. 6;6 102. 60; 60

103. (a) 37 (b) 75 104. (a)5.2 (b) 1.2 105. 16; 37




SAEHTAT

106. 41, 79 107. 1024 108. 961 109. 3600 110../50 1 52
111. 7.2 112. 9.2 113. 22500m2? 114. 16 115. 3,375
116. 82m 117. 576m2 118.8cm 119. 5, 10 3R 15
120. 42.25 m? 121. 4 122. 6 123. 32

124. 52 125. 104 126. 93 127. 37m 128. 3.3m

1

129. 900 130. 8, 12,20 131. 3600 132.10; m  133. 18
134. 0.3, 0.45, 0.6 135. 3.6 136. 50,653 137. 85, 184
138. 8836 139. 6, 19, 30 140. 104 141. 196, 961
142. 12, 21, 102, 201

(D) 3 Y=, e 3T uRel
hHiaas Ugelt

7 F3T6]1 3]

o Ps|{o]o|o

‘o '6 [7[ 1] 2

6|l2]|5s3]|s5

Mlsl1Fe6]a

3T 4

1. (¢ 2. (0 3. (0 4. (a) 5. (b) 6. (0
7. (a) 8. (0 9. (d) 10. (a) 11. (b) 12. (o)
13. (a) 14. (d) 15. (a) 16. 3Tfysman 17. 1

6

18. 19. T« 20. 3 21. 3,435 22. T16.50
23. fog 24. 10 25. -60 26. 24 27. 5 28. 7
29. 698 30. 4x+ 15=39 31. x+9 32. 100 833. ITA
34. IJ9J 35. A 836. I 37. 3T 38. 44 39. 3I9dA
40. 3I9A 41. I9I 42. IJFI 43. ITI 44. I 45. I
46. 3I9d 47. 3IFI 48. 3IFI 49. x=8 bB0. x=-251. x=7

424 yys u=fiTeRt TIUT - AN 8
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Tfura

8 31 17
. X= . x= . X=— B5. Y=—_
52 3 53. x=0 54. x 5 55 )
56. x=-5 B7. x=2 B8. x=4 5B59. x=-6 60. t=0 61l. x=7
-12 -8
62. x=2 63. X=—c= 64. x=11 65. x=3 66. x=5
_43 _ _L _ TN |
67. 35 68. t=17 69. y 5 70. x=37 71. = 72. X s
73 x==2 74 t=1 75. m=~ 76 p==2 77. x=—- 96
. 17 . . 5 . 29 « X = —
78. x=18.3 79. 24 Fd 80. T 4500 81. 501 100!
82. 800 83. 24 84. 18 85. 23 86. 52 87. 1200
88. 12,42 89. 56 90. 9m, 23m, 23m 91. 1299
7 1
92. T 6,00,000 93. 1 94. 65, 66, 67, 68 95. 145 kg
96. [=80cm, b=40cm 97. A=20d94, B=15dd
3
98. 5 99. 36 100. 20 f& 101. 9km/h
9
102. 500 %F9U & 12 150, 1000 T9Q & <2 25 103. 15 104. 5
105. 10 f& 106. 100 107. 11km/h 108. 22km/h, 30km/h
109. 7hr 110. x=10cm 111. x=3cm 112.380,% 120
113. 40
(D) 3 yENT, W 3T uRel
1.(a) x=3 (b) y=2 (c) z=2
d P=1 ) Q=6 fH R=2
2.

<>+¥= 8
<><>+¥ = 10
O AR -




SAEHTAT

3. (1 x= 6% [ x=1 (dii) -1 (iv) %
-7 24
(v) 60 (vi) -5 (vii) 5 (viii) 5
(ix) 5 (x) 42
5. 1. Subtraction 2. Equation 3. Distributive

4. Variable expression 5. Coefficient 6. Multiplication

7. Equivalent equation 8. Identity 9. Algebra

ECER-]

1. (b) 2. (a) 3. (a 4. (o) 5. (d) 6. (0
7. (0 8. (a) 9. (a) 10. (a) 11. (a) 12. (o)
13. (b) 14. (o) 15. (d) 16. (a) 17. (a) 18. (a)
19. (a) 20. (a) 21. (o) 22. (b) 23. (b)) 24. (a)
25. (b) 26. (o) 27. (d) 28. (b) 29. (a) 30. (b)
31. (a) 32. (d) 33. (a) 34. (b) 35. (a) 36. (0
37. (a) 38. (a) 39. (o) 40. (a) 41. (a) 42. (a)
43. (d) 44. (a) 45. (a) 46. (b) 47. (b) 48. (a)
49. (c) 50. (a) 51. (b)  52. (c) 53. HO 3R EP, PO 3R EH
54. RO 2R OP, OP @R PE, PE 3R ER, ER 3R RO

55. /W 3R LY, /X 3R /Z 56. DF 3R EG B7. &0

58. 72° 59. 720° 60. 20° 61. 10° 62. 3&Fqa ag
63. T 64. 108° 65. TH qHARE S 66. 9

67. l@@s 68. Hm 69. 2n-4 70. 360°
71. = 72. 99@9 73, FHAqHS, o 74. THEH

75. 5 76. 23T &= w01 77, 9/ 78. 1 79. fawia
80. 5 81. ¥Ai® =gys 82. 28cm 83.9 84. AN

85. T 86. o 87. 6cm 88. W&

89. T 90. 80° 91. =Uys 92. FIFA 93. A

426 Uy y=fdTeRt TfUTa - e 8
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94.
100.
106.
112.
118.
124.
130.

Tfura

IET 95, §A 96. JIHF 97. FEIT 98. A 99. ¥

I 101. ¥ 102. ¥ 103. ¥ 104. 3T 105. JATA
g 107. 9 108. 318 109. JA¥F 110. 3HF 111.

AT 113. JIFAF 114. AFF 115. 39T 116. 39T 117. A

T 119. ¥ 120. 99 121. §F 122, JAHF 123. 3IHA
ga 125, JA9F 126. 9@ 127, ¥F 128, ¥ 129. ¥4

¥ 131. 9F 132. 8.5cm 133. 45°, 135°, 45°, 135°

134. gocid, 31 |t gk wgys 21 135. 2:3 136. 36°

137
139

140.
144.
147.
149.
152.

153.
157.
161.
164.
166.

168.

169.

T, omad H fawof SRR @9 ¥ 138, 70°, 110°, 70°, 110°
T, guicRk =qds & fawol wer gnfgofaa @ ®1 erefq UM 1:1.
12 141. 99® =4S 142. ¥99g4s  143. 23cm, 30cm, 30cm
30°, 60°, 120° 145. 55°, 70° 70° 146. 100°, 80° 100°
120° 60° 15cm, 11cm, 12cm, 52cm 148. 20°, 20°

45°, 75°, 35° 150. 70° 151. 105° 5=

(i) @, oTFa & T@ el §9E B 2l

(i) =&, MY 921 RX, OE W &« 2

(iii) &, ¥ 37d: THR HI07 2|
(iv) 8, MYO = ARXE
50°, 50°, 50° 154. 120°, 130°  155. 90° 156. 135°, 45°

100° 1568. 2.5 159. 90° 160. x =2
x=220, y=10° 162.x=80° y=110° 163. x = 80°
105° &%, FHIdR =qs 165. 200°, 3/@&ad

90° 167. 135°

TGS 1 ATGERIUT = 36500 =720

TGS T AR = 31680 = 36°

720 = 2 x 36°, difed U 2:1

74° 170. 80°




SAEHTAT

o 1 1
171. =, 7 LE + - /P = 180° - Z/PSE = ZE + /P = 360° - 2/PSE

2 2
3R LE + /P + £0 + /H = 360°

IqM = 360° - 24PSE + Z0 + £ZH = 360°

172. x=80° y=70° z=30°

173. =i
174. /A = 120° /B = 105° /C = 75° /D = 60°
175. 1lm
/DXY = ZXYA  (THIR HiU £S)
ZDXY _ ZXYA :9)
2 2
/1=,2 (XP 3R YQ ufgase ?)
- Xpllgy (1)
= war XQ || PY 2)
(D=2
PXQY T HHiR TqHS § f
/DXY + /XYB = 180° £ X P M
ZDXY , /XYB :1800
> > 5 (29 T gw)
/1 + £3=90° (4)
A XYP ¥
L1+ £3 + /P =180° - —s 1
90° + /P = 180° 4 ) A / v B
ZP = 90°

(3) 9 (5), PXQY T &= 2l
176. /A= /C

ZA Z£C _
22 =2
L1 =12

A £2 = £3 (@t 07 Ls)
L1 =23

T ° HA SO H TH I 2

428 v y=fdTeRt TfUTa - e 8
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177.

178.
179.
180.
181.

- AX]|lyc (1)
AY||xc 2) (AB||DC)

(Ma@2)¥
[[]AXCY T wi@ =g4s 2|
fem - (i) ABCD is a ||=
(i) £1 = 22
fag +e ? (i) 23 = 24
(i) ABCD w#=ig¥s
3qafd (i) £1 = 24
/2 =/3 (THIT 0T L)
g £1 = /2
/3=/4
(i) £1 = 22 (few &
/2 =/3 THIAR HT0T)
Z1=1/3
3d: CD = DA
-, ABCD T& gw=gsfal 2|
1359, 45°, 135°, 45°

60°, 120°, 60°, 120°

450

fea - ABCD W || en, ZA &1 wmfgarsish, DC 1 F W HAfgAsH el 2|
ie. 21=,2 CF=FB

= 1- @ifat FE || BA

379fd ABFE @ ||~ & =1 g (FE || BA)
/1= /6 (THTR 1)

W L1 = £2 (feem @) E = F
. /2= /6 o

AB =FB (1) (THE HIUT HT THE ST L) b‘

- ABFE T 9@« @ X% K,

. A
AABO 9 ABOF ¥
AB = BF (1) 5@

D C




BO = BO EXPIRLS)

AO = FO ool WER gEfgaeE $9
AABO = ABOF
/3=/4
1
BF = —BC (feam @)
1
BF = 7 AD (BC = AD)
1
AE = 7AC (BF = AE)

- E, AD =1 ue7 fag 2
182. 9°
183. 3, 3, 3 o7d: AU &1 siferhan He@m 3 2
184. (a) 116°(b) 30cm
185.
196. &,
ThH AT TRl < genetl w1 A dEd gon 9@ w@er g
AB + BC X AC
197. T,
Z0 + /R + ZA = 120° + 105° + 135° = 360°

(D) M yEN, B AT wRelt

forameReTa
o
1. Trapezium 2. Polygon 3. Kite
4. Diagonal 5. Perpendicular 6. Opposite
7. Eight 8. Triangle 9. Regular
10. Nine
EIEh]
11. Heptagon 12. Adjacent 13. Parallelogram
14. Equal 15. Pentagon 16. Bisect

17. Rhombus

12/04/18



1. (o) 2. (a) 3. (o) 4. (a) 5. (o) 6. (d)
7. () 8. (o) 9. (a) 10. (a) 11. (a) 12. (b)
13. (b) 14. (b) 15. (o) 16. (d) 17. (d) 18. (b)
19. (b) 20. (d) 21. (o) 22. ¥ 23. 9 24. 4
25. n+l 26. 30 27. @ 28. Wi 29. W= 30. B
31. TmH  32. 4 33. 1:4400000 34. 7 35. 7
36. W ¥ 37. 33 38. 12 39. =  40. FahTEy
41. (@) a9
el
IR G
(b) (i) wres
(i) W 9
(ifi) T 9
(c) (i) ured
(i) W 9
(ifi) T 9
(d) (i) ured
(if) 9= &
(iif) ¥ 9
42. ITT 43. ITI 44. I 45, A  46. ITA 47. ITA
48. 3TA 49. IFA 50. A 51, ITA 52, WA 53. THA
54. 3@ B55. ¥ 56. ¥ 57. 3’WA B8, WA 59. THA
60. ¥ 61. THA
62. (a) 6,8, 12, 14, 14
(b) 4,4,6,8,8
() 5.5,8,10, 10
d) 5.5,8,10, 10
(e) 6,6,10,12, 12




63.

65.

66.

67.

68.

69.

(0

(g)
(h)
(1)

()

(k)
(M

(a)
(b)
(c)
(d)
(a)
(d)
(a)
(d)

(c),

(a)
(e)
(i)

(a)

(b)

(c)

7,7,12, 14, 14
5,6,9,11,11

6, 8, 12, 14, 14
6, 8, 12, 14, 14
7,10, 15, 17, 17
10, 16, 24, 26, 26
9, 14, 21, 23, 23
4

6
9

8

1 (b) T &l
9 (e) 4

1 b) 2

16 (e) 18

(0, (m) = (k) SgFHeH Tl T
10 (b) 10

11 M 9

113 () 66
| 9 9y

/N /N
ARG

urvd g9

(c)
(0
(c)
(0

(c)

(g
(k)

g T
12
FIE T

10 d 9
11 (h) 110
15 n 14
I 9 g9

Q
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(d)

(e)

)

(@

(h)

(i)

()




70.

71.
74.

75.
76.

77.

79.

80.

81.

82.

Il Il Il Il
o oo © oo =

—

Hehd- TSR fqufte @i=m

72. & 73.22
(c) 16

78.

Ll

foem, fyufos

12/04/18



83.

84.
85.

86.

87.

88.

89.
90.

92,

F=n+1
V =n+1
E =2n

o, =l

(a) 31 el g STeANifud SeH
(b) ¥k SN AANUA WSt foew
A

(a) =

(b) =9

(c) e

(d) v
(e) TR faufhs

(0 Frgsr s

(@) 2.1 THhg

(b) TSRt ASA Tl [ qen 11
(c) Wk A

(d) =R B

(e) 6




93.

94.

95.
96.
97.
98.

99.
100.

101.

a) T 3R GRS ST

b) fRwR effecifam, 9, Tfime R

c) ST hifd Am

a) W uSHh
e arl, Al TS 3R
=g

b) wfemm, Jw- 27
B T, B X 9d

c) g mm

d) dU+RI-19, B TR 9Rd

e) Tal- 27

f) HFI-26

g) 4

1:2

5:1

25km

(1) 60km

(2) 20km

(3) 35km

10mm

(@ lcm =4m

(b) 1 inch = 9feet

12cm

(D) sryarT, @t iR w2t

7. SHOaE ugen
TR
1. Prism 2. Pentagonal
5. Cuboid 7.
8. Convex
EIER]
2. Pyramid 3. Diagonal

4.

Sphere 6. Cone

7. Two 9. Vertex

Tetrahedron



Tfura

1. (b) 2. (b) 3. (b) 4. (d) 5. (d) 6. (b)

7. (d) 8. (a) 9. (a) 10. (b) 11. (a) 12. (b)
13. (d) 14. (b) 15. (c) 16. () 17. (b) 18. (o)
19. (a) 20. (b) 21. (a) 22. (0 23. (0 24. (a)
25. (o) 26. () 27. (b) 28. (b) 29. (d) 30. (b)
31. (d) 32. (o) 33. (a) 34. YAIH% 35. ®HUMHS

36. ab+ ac 37. (a-b) 38. (a—b) 39. 2ab-2b?> 40.a + b?

41. ab 42, 9% 43. x 44. 2mn (9 + 5p)

45. (2y-3) 2y-3) 46. 2x°z 47. 24 xyz48. (67 + 37), 3120
49. (103+102), 205 50. 12 X 51. 8x°

52. - 37 53. 2 54. 16 (a® + b?)

55. famw 56. 3y 57. x+1 B8. 2(x+2y 59. IHA
60. JIT3a 61. 94 62. JATIT 63. I 64. 94 65. 39
66. JIT3T 67. AT 68. I 69. JIF™ 70. IEI 71. IHA

72, §F 73. @I 74. FFAI 75. A 76. € 77. 38X

78. I3 79. JIFT 80. ¥A
81. (i) 10a’bc - abc? (ii) 10ax - 2by + 2cz
(iii) 4xy?Z - 6212z — 3x%yz? (iv) 3 +2xy+ 112 +4

(v) —p*-10p*-2p>-6p-5 (vi) 3 — ab + 3ac + 2bc - 2b?
(vii) 6ab + 21ac + 6bc
82. (i) - 12a?b?c? (i) — 9x2 + 10xy + 31
(iii) 2ab’c? — 14a?b?*c + 7a’bc®  (iv) -7t*+ 123 -612+4t+ 5
(v) 3ab - 7bc + bac + 10abc (vi) —33p? - 77 pq

(vii) — 3ap - 3pr- 3pq - 3px




83. (i)
(ii)

(v)
(vii)
(ix)

(xi)

(xiii)

(xv)

91p*q*rt (i1)
255xy3 7> (iv)
- 152212 + 332 (vi)
7p*qr—-7pg?r + 7pqr? (viii)
pq-T7p +6q-42 (x)
at? (xii)
21ab*° (xiv)
a - b* (xvi)

(xvii) p’q® - 4pqr+ 4r? (xviii)
19
(xix) 3p* - gpzq2 -2q* (xx)

(xxi)

84. (i)

(ii)
(v)
(vii)
(ix)
(xi)
(xiii)

85. (i)

(iii)

v)

6xX* — 4x3 — 23x2 + 44 x — 24 (xxii)
18x% + 81 (ii)

ab+ﬂb2
49

D (iv)
31 1v

7.2 pq (vi)

x*
- 2b®

(viii)

(x)
40.5a>+ 27ab + 4.5b” (xii)
s*t?-28’t’q* + gt
X2 + 2xyPz + P2 (i1)

16 , 25

—a’ +2ab+==b* i
25 T e (iv)

16 .. 8 .25
5P TP

(vi)

517

- 715 a*b®c?

ab*c® + a’bc

XBYPZ - XYz + By
0

-91 8283

a’b? + 2abc + ¢

2x% - 3x* - 23x + 42

2x* + 7x-13y- 21 - 15

24 xy

12.5m? + 4.5¢
a@b® + ¢

b~ 49b + 7D
P’q*+ 2pg’r + g°r?

KR — 256 + 22y

4 92
—x" =2xy+—
9 4y

X2+ 10x+ 21
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(vii) 4x* + 4x- 63 (viii) %xz +4Txy+%
(ix) gxz—gaz (x) 4x> — 20xy + 2512
(xi) iaz—ﬁ (xii) x* -yt
9 9
(xiii) a* + 2a?b? + b* (xiv) 49x2 + 70x + 25
(xv) 0.81p%-0.9pq + 0.25¢> (xvi) 1296a* + 2401 b* - 3528a*b?
86. (i) 2704 (i) 2401 (iii) 10609
(iv) 9604 (v) 1010025 (vi) 990025
(vi) 2491 (viii) 2756 (ix) 9975
(x) 10088 (xi) 10403 (xii) 10094
(xiii) 98.01 (xiv) 99.96 (xv) 103.02
(xvi) 1040 (xvii) 3860 (xviii) 94
(xix) 12800 (xx) 89000 (xxi) 458000
87. (i) 18a (i) Sxy (iii) y
(iv) Imn (v) 7pgr (vi) ry
(vii) 3xyz (viii) 3prs (ix) 13xy
x) 1
88. (i) 6b(a+ 20¢) i -ykx+a (iii) x (- bx+ ¢)
(iv) Imn(lm-mn-1ln) (v) 3r(pq-2p*qg*r->51)
Vi) xy 0Py + x> -y + 1) (vi)) 2xy Ry-5x+8xy+ 1)
(viii) a (2a2 - 3ab + 5b?> - b) (ix) 3pqrs (21pgr - 3qgrs + 5prs — 20pgs)
(x) xyz (24 xz?2 - 61z + 15xy — 5) xi) (a+ 1) (a2 + 1)
(xii) (x+y (+m) (i) x(a+x(a-x(a+ x)
(xiv) (x+ 2y (2x-1)
xv) (Yy-42 (y-2x (xvi) x(ax+ by) (y-2




SAEHTAT

(xvii) (@®> + a+ bc) (b + ¢) (xviii) (2a+ 3b) (x+ Yy (x+ y)

89. (i) (x+3)(x+3) (ii)) (x+6) (x+ 6) (iii) (x+7) (x+7)
(iv) (x+1) (x+1) (v) @x+1) 2x+ 1) (vi) (ax+ 1) (ax+ 1)
(vii) (ax+ b) (ax+ b)  (vii) (ax+ by) (ax + by)

(ix) 2x+ 3) (2x+ 3) (xX) 4x+ D) (4x + H)
(xi) (Bx+ 4) (8x+ 4) (xii) (Bx+ 5) (Bx + 5)

(xiii) 2x (x + 6) (x+ 6) (xiv) x (ax + b) (ax + b)

(xv) » (2x + 3) (2x + 3) (xvi) (§+2j (§+2j (xvii) (3x+%j (3x+§j
90. (i) (x-4) (x-4) (i) (x-5)(x-5) (i) x-7) (y-7)
(iv] (p-D((p-1) (v) (2a-Db) (2a-b)vi) (py-1) (py - 1)

(vi)) (ay - b) (ay — b) (viii) (Bx-2) Bx-2) (ix) 2y-3) (2y-3)

2x 2
x) @—2) G—ZJ (xi) ylay-b) (ay-b (xi) (”‘ﬂ

91. (i) (x+ 13) (x+2) (i) (x+5) (x+ 4) (iii) (x+ 5) (x + 13)
(iv) (p+ 1) (p+13) W) W+ 7) (y-3) (vi) (y-95 y+3
(vii) O+ (2+ X (viii) (x—7) (x-3) (ix) (x-12) (x-5)

x) x+11) (x-7) ) (y+4) y+3 (i (p-15 (p+2)
(xiii) (a — 20) (a + 4)
92. (i) (x-3) (x+ 3) (i) (2x - By (2x + dy)
(iii)) 2x- 7y 2x+ 7y (iv) 3a?b (b - 3a) (b + 3a)
V) 7a2y-5x9 (2y + 5x) (vi) (Bx-1) (Bx+1)

x y\x vy
(vii) 25a(x-1) (x+ 1) (viii) (g‘gj(g"‘gj

(ix) 2(?—461)(%4(1) () (7x - 6y (7x + 6y
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X Ifx y\(x vy
+25 i) =l =—= || =+=
5 j xiii) 2(2 3)(2 3)

x y) (x>
3 4 3 4

(xiv) xv) XY
! 4 1 4

xvi) 1lxy (11x-y (1lx+y  (xvi) b g“‘;c] [ga+7c]
(xviii) b(2a-b) (2a® — 2ab + b?) xix) (x-1) (x+1)(x2+1)

(xx) (y-95) (y+5) (P + 25) (xxi) p(p-2)(p+2) (p*+4)
(xxii) (2x-3) (2x+ 3) (4x* +9) (xxiii) (x-y (x+ 1y (& + 1)
(xxiv) (y-3) (y+3) P +9) (xxv) (2x - 5y (2x + 5y (4x> + 251P)
(xxvi) (a-2b+ c) (a- ¢) (xxvii) 8 xy (2 + P)

(xxviii) (x-y (x+y &+ P+ 1) (xxix) 2a(2a-1) 2a+ 1)
()x‘l’”l (xxxi) (B8x-3 3x+ 3y+
XXX 10 10 xxxi) (3x-3y-1z) (Bx y+ 2z

93. (i) x-23Rx-4 (i) x—18Rx-2 (i) x-23Rx-5

(iv)x+203f|'{x—1 (V)x+53f|'{x+4

RS 11p3¢%
. 2 .. 422 sy .

94. (i) 3x%y (ii) y (iii) — 17 bc (iv) xy2z3
95. (i) r-2pgr (i) %ax2+§x—§ (i) 22 +xy? —y® + 1

i) Ly

X

96. (i) x-9 (i) x+12 (iii) 2x (iv) 3x -2

V) 3(x+4) (vi) x-2 (vii) x2 + 25
97. 2x+ 3y 98. 3x+ 4y 99. x+4 100. y-4
101. x+3 102. %n(n+1) 103. (2 + 25) (x - 5)




SAEHTAT

104. 7xy (¢ + Y 105. T X2 + 8x + 16; % 196
106. 4x*> -9 a1 1, 3591 & TS 107. 44 (ab - b -2ac)
108. 100 109. 200 110. 225 111. 72 112.12
114. (i) 62 (i) 143 (iii) 12 (iv) 48
115. 3a®> + ab + 7ac + 2b?> - 6bc — 4¢? 116. -b* + 2b*>+ 7b - 8; 16
117. 51 118. (x+éj(x+é—3j 119. (p*+ ¢ - pq (p*> + ¢ + pq)
120. (i) 8 (ii) 300
121, Thd x4 - x2+1 =X +2x+1-x2 =0+ 102 -2
122. Side = 25 TFE x = 5
124. 10x (2x + 1) = 31
125. (i) - (b) (i) — (c) (iii) — (a)
(D) sy
1. BINOMIAL 2. POLYNOMIAL 3. EVALUATE
4. TERM 5. GCF 6. TRINOMIAL
7. MONOMIAL 8. QUADRATIC 9. FACTORS
10. INTEGERS 11. LIKE 12. DEGREE
ECOER S
1. (c) 2. (a) 3. (b) 4. (a) 5. (¢ 6. (o
7. (a) 8. (o) 9. (o) 10. (a) 11. (a) 12. (b)
13. (a) 14. (b) 15. (c) 16. (b) 17. (d) 18. (d)
19. (b) 20. (d) 21. (o) 22, (b) 23. (a) 24. (d)
25. (a) 26. (d) 27. (0 28. (a) 29. (o) 30. (a)
31. (b) 32. (o) 33. (b) 34. 10 35. a“’ 36. 1
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37.

42,

47.
50.
54.

58.

63.

69.
75.
81.
87.

91.

93.

96.

98.

99.

103 43.
1.234 x 107
672 51
4 55
8* 59.
1
35 64.
S| 70.
S| 76.
S| 82.
S| 88.
(i) 1001
28 94.
-2 -6
@ 3
(i 29

i) x=-2

100. 2.93 x 10*

105. x=2
109. 6.0 x 10°
112.1.0x 108 g

F 39. 26 40. ZBEUMHG 41. YA[HE
2 - 44 36 45. 1 46. 1.0x10°®
13 22 ’ o
48. 34,10,000 49. 23,94,610
. 3*7 81 52, 3! 53. 0.0000003
. 3.25 x 10 56. 8 X 10° 57. 0.00000000023
1
10 -2 -
2 60. 1229 144 61. 6 62. O
1 65. 49 66. 3I9a 67. IJF 68. TJ
qcd 71. 3IFT 72, IHI 73. JATA T74. JIHA
AT 77. IdA 78, A 79. I3 80. 33ITA
qcd 83. T3 84. I3 85. I 86. Td
AT 89. A 90. I3
o o P IING 02 L
(ii) (iii) 5 - 39
333:ﬁ-{ _33 [4]23:ﬁ_{[—4]2
=] e o (5
(b) 2°1° 97. - 128
38 7, 1
O o . 10
(ii) 57 (iii) 1O.z (iv) 2 AR 1024
(i x=-1 (iii)) x= 0
49
101. (100)° 102.1 103. 1 104. 90

106. 3.9 x 10® 107. 5.678 x 10° 108. 1.312 x 10°
110. 1.5 x 107 111. 5913 x 10° km
113. 3.72 x 10° kg 114. 2.75 x 10'2




115. (a) 1.673 x 102* gm
(c) 3.34 x 102! tonnes
(e) 5.6 x 10*
(g) 6.3072 x 107 sec

116. x=-1 117.

120. 625x° 121.
124. (a) 22* (b) 248

127. (a)
IVl H FE&AT

444 yya y=fdte Tfura - e 8

(b) 2.2 x 10® cm

(f) 5.0 x 10°
(h) 5.0 x 108 cm?

118. n=1119.

N | —

N[~ N~

N | —

N | —

n=9

123. 16 kg

T w T TR

L
)

L
4

1
64 128 128

1

N | —

128 256 256

1

N | —

256 512 512
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10

(b)

1

1- —

2

L
2

52)

1

1024

1

1

1

512 1024 1024

1

Tfura

IR
1024

(© T, wE 1w ¥ R % R -

=fgw, s gwa & 2
128. (a)
x 1% | 2~ 3 4x 5 6+ 7 8% 9% 10%
1 1 ]2 3 4 5 6 7 8 9 10
2 1|4 9 16 25 36 49 64 81 100
3 1 27 64 125 216 343 512 729 1000
4 1|16 | 81 256 | 625 1296 2401 4096 6561 10000
5 1|32 | 243 | 1024 | 3125 7776 16807 32768 59049 100000
6 1 |64 | 729 | 4096 | 15625 | 46656 117649 | 262144 531441 1000000
7 1 | 128]| 2187 16384| 78125 | 279936 | 823543 | 2097152 | 4782969 | 10000000
8 1 | 256| 6561 65536 390625| 1679616 5764801 | 16777216 | 43046721| 100000000
=t 1|24, 3,9, |46 5 6 7.9, 8.4, 9,1 0
Eal 8.6 7.1 3,1 2.6
EEQERIl
& 3fh
(b) (1) 6 2) 1 (3) 3 (4) 5 (5) O
() (1) 1 2) 4 (3) 7 (4) 1
129. (a) ¥&- 1.99 x 10%° ¥ - 3.3 x 10%®

[H - 4.87 X 10*
A - 6.42 X 10%°
wiH - 5.68 x 10%°

I - 1.02 x 10%

=54 - 7.35 x 1022

(b)
(c)

130. (a)

A - 2.279 X 108

gedt - 5.97 x 10%*
ggHfd - 1.9 X 10%7
TLE - 8.68 x 10%
el - 1.27 X 1022

ggHfd - 7.783 x 108

o - 5.79 x 107

W < SHT < g9 < Y < YAl < PEE < ToA < WM < gEEd < He
TH
I - 1.496 x 108



131.

132.
134.

136.
137.

138.

139.

141.

144.

145.
146.

147.

I - 4.497 % 10° =l - 5.9 x 10°
W - 1.427 x 10° I - 2.87 x 10°

TF - 1.082 x 10°
(b) T, Ik, YA, A, gEEAld, i, IEH, T=7H, T
(@) irem (b) fefrem
() eEgeH < elifam < ffram < =it < wien
2.8968192 x 102 m 133. 2.543 X 102 m

0.000000767 135. 9.1093826 x 1028 g
©: TN T 9 Taferd
(a) e oS H HeEn
1 2
2 22
12 212
(b) 2"

T T« H 1610 fafa=sa I 1.61 x 102
T 99§ 83950 fafe=s =1 8.395 x 104

375¢g 140. (a) % (b) 5 31ef T@md

1.3 X 107®* m 142. 5.0%x 102 m

@ ® —=(D—=—(D)
—) —>

1.15 x 105 fH

(a) 9N, SEOR, =Ed

(b) =@ 1.3 x 10°
SR 1.26 X 10°
e 3.6 X 103
g 7.0 X 10°

(©) 3.0 X 103 THR=W

40 cm

446 Yy USSRt TIUTA - AN 8
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148.

149.
150.

151.
153.

155.

158.

159.

160.

161.
163.

164.

165.

167.

(@) x22 R x5 #3iH; =

(b) x4 93+
64 cm
(@) = T
Fa fa@=@ 10,000
(b) i T
% fE@=e 16,807
(c) wmd T
%o TE=mE 78,125
X4%, ‘x82, ‘'x2¢ WYH 152. Ig FE WM
(@) T4 oar T ager (b) 1 154.
(i) 1 cm (ii) %cmtn 0.125cm 156. % cm
(@ x2’ (b) *x 2% () %
(@) 2° (b) 1002 (c) 78!
132
(d) 3% (e) 2° (f) (Ej
(@) @&, x 7% (b) & (c) &
(d) =, % (0.5)% (e) 73, x12%
X 6% 162. 52 x 52
(@) x2¢ (b) x5 (c) 5cm
d) 3 cm
(@) 22 x 52 (b) 32 x 11!
(© x37’ (d 101 x 111
1
x3%, x9? 166. X (5)

aXx 25, ax 125, a X 625

3 cm

157. 5



168.

R HiE)
IREHRSELH 2 X0

0.5 1 5 2.5

3 6 30 15

7 14 70 35

169.
IEENRSEIH Tafex 7=

x23 x33 X 52
5 40 135 125
2 16 54 50
6 48 162 150

170. Heha- TH 8 x 8 fire ofifsm
79 Y% Ul T AN A i U ufe-
=204 21+ 22+ 23+ 2%+ 25+ 26+ 27

= 255
e uferd

=28+29+210+211+212+213+214+215

=28 (204 21 + 22+ 23 + 25 + 26 + 27)

= 28 x 255

= 256 x 255

= 65280
el dfer
216 x 255

28 = 256

9216 = 98 x 98

16711680

= 256 X 256

TR

448 gy y=fieRt TfUTa - e 8
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171. g3 =1 =9 geat & =@ w1 100 o7 R
172. 26.32 X 10 kg 173. 1492.16 X 108 m
64
175. 3 176. 57
177. (1) x=-2 2) x=-7 3) x=6
4) x=7 B) x=-1 6) x=4
178.(1)2 ()2 ()4
& elF e@
179. (1) 11 2 |~ (3) 63 (4)
8 o q 22
180. (1) 15 2) O (3) 169
(5) 3" x¢ (6) (31)°
(D) ey
TeramereTa 1
1 2(=2Y
2 4 (= 2?2
3 8 (=29
4 16 (= 29
(a) 2" (b) 240 () 9 cuts
(d)
HEA i GET | &% (cm2H)
0 324
1 162
2 81
3 40.5
4 20.25

Tfura

174. 2.7 x 108 sec



10.125

5.0625

2.53125

1.265625

O 0| N O O

0.6328125

10

0.3164062

A (Sifsd =F9®) = Ax 27 (SEfn = 1,2,3,... 3R A TRFTF &% 2)1

(e) 8192 cm?
Toramarea 2:
(@) | oRON W WEr | deEl & W
1 3
2 32
3 33
4 34
5 3°
(b) 3B, 3" () =Fam 11 =/
Torareretra 3:
EOLCES
Reac
1. SUM 2. EXPONENTS 3. ONE 4. NEGATIVE

EIEL]

5. ONE TENTH 6. EIGHT

9. MULTIPLICATIVE

1. (b) 2. (b)
7. (0 8. (b)
13. (o) 14. (b)

450 uvT uSfiteRt TIUTA - el 8

3. (b)
9. (d)
15. (a)

7. POWER 8.
10. STANDARD

ONE TENTH

4. (& 5. (b) 6. (a)
10. (b) 11. (@) 12. (o)
16. () 17. (¢  18. (b)
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19.
24.

27.

29.

32.

35.

37.

38.

39.

43.
48.
54.
60.
66.
68.

70.

74.

Tfura

(b) 20. (0 21. sg1 22, 8%  23. 243
FET=M.P.-S.P.  25. 9= 3fka gw@ = 26. fawiEe

R n
A=P(1+ﬁj 28. fasml =¥ = foa = T &1 10 %

YO A 30.39eTF 31.30fhd oo

2t
,
A=P|1+
( 200} 33. A, ' 34. 1,000
A =9331.20% CI =1331.20 36. X 27,000

1
10%, 15 L

40
x+—— x=1,12,000 (Let C.P. be x)

100
140X _ 1 19.000
100
800
X
= 212000 100=?80,000
1401
20 2
S% 65% 40. 100% 41. 364 42. 710,000

400% 44. 300% 45. 199.50% 46. TA 47. IEA
SRSl 49. IJ 50. 3@ Bl. IFI bB2. JIHTI B3I, IHA
¥ 55, @@A 56. W9 57. 9@ 58, I¥WA 59, TA
sM 61, WA 62. FEA 63. ¥ 64. WA 65, IEA
840  67. 29.67 kg, 23.73 kg, 10.79 kg 1 10.8 kg (eFT+)

(@)% 5,177.50 (b)X 1,280.50 69. (a) I 500 (b) ¥ 10,000

50
(@ 10% (b) 3% 71. ¥380 72. 9f55.76 73. ?%

32 2
3703 75. 3019.14 76. (a) 40% (b) ?%=10§% (c) 20%

ST 451




SAEHTAT

77. 55.84%, 2.23% 78. (a) ¥664.95 (b) ¥1,243.26

() ¥2,305.38 (d) ¥a1 X =3 6.29 Fa I =3 4,219.88
79. (@) ¥3,200 (b)3¥43,200 (c) ¥3,456 (d) 46,656
80. (i) 57.55% (ii) 22.65% 81.%¥35 82. 12.5%

83. faai e T582.01 84. 882.9 + 3% =3909.39

85. (i) ¥ 5000 (ii) ¥ 1,05,000 (iii) ¥ 5250 (iv) ¥1,10,250
86. M9 27.08% 87. T630 88. ¥7840 89. 7305.38

90. 25,000 91. 7,00,000 92.0% @9 A1 7 @9 7 B
93. U@ 10.96%, Ed 6.09%, TAdST 8.20%

94. A. 29.6% FH B.18.96% dfg
C. 500% 3fg D.9.09% 35
95. 18.027% A 18.03% 96. = =0.25%97. 40%
98. I864 99. ¥3561.60 100. 30% 101.%18,400 102.3% 800
103. ¥1653.60, T 1620
104. gy =% 10,75,840, =~ =¥ 51,840
105. <7 fased = 35,243
106. (b) 690 mg  (c) 120% d)3:7
107. 290 108. WA W 7 %H =7 oell 2|
109. (a) ¥30.60 (b) ¥59.40
110. (a) 350 fafy =0 g <M
(b) fafir 1 : ¥202.50 fafar 2 2: T 190

(c) Idd | WR weelt fafy v wwar @ Fifw 5@ faf g g2 w9 < S ?)
111. e < WEH A emaede o war T 900 T&E en|
112, YRR TR W 20% B (A€ IRfws ge9 T 100 ©, @ 5@ g3 ged T 120 2)!
g 20% HH & gE AR T 120 W 2 (FAfq T 120 H120% = T 24 B)1 I@:
T g8 W =3 120 - T 24 = T 96 | TEfaw W g i yrfwes ufer @ wm 2l

452 gy y=fdteRt TfuTa - e 8
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3
113. 1.93.3% 2. (a) 1 (b) SPF = 4

114. % 12,50,000
115. 9rfwes 9, % 3.97 ufd kg. T 3.38/kg ¥ €31 I

116. (1) 81.6% (2) 90.4% (3) 85% (4) 84%
(B) 86.67% (6) 82.5% (7) 90% (8) 82%
(9) 86.67% (10) 87% (11) 88.5%
117. 91.43
118. el 1 R W TeohrE &1 Afyd Ffaea Tur HE ST
119. 36% 120. 44.4%  121. 37.52kg  122. 4.431 gram

123. 9% I1d # @ ¢ % 5, 32 *1 forad ufawrd 21
124. 9ie 1 (X) W faswt ¢ gfasd 21
Fel: 7.14%

el : 4.84%

(D) 3MuET, @ i uRfeat

TeramereT 1:
CAER ]
1. 7200 2. 960 3. 187
THE
1. 109fae@ 3. ¥ 1260 4. 800 5. 70
feraTaea 6:
EORCES
THE
1. PROFIT 2. COST PRICE 4. DISCOUNT
5. LOAN PERIOD 6. RATE 7. SIMPLE INTEREST
8. PERCENTAGE 9. SALE PRICE 10. PRINCIPLE
11. COMPOUND INTEREST 12. LOSS




3% 10

e

(c)

7. (a)

13.
18.
21.

25.

28.

32.

36.

41.
46.
52.
58.
60.

61.

62.

63.

68.

71.

72.
77.

(a)

2. (d) 3.
8. (d) 9.
14. (o) 15.

yfaetma: 19. die, dien
PINGIEGR 22. x/y

16 . .
Eaéawaé 2071 26.

e

29. fer®

TUEEA 33, FHMUTAT

9Ocm 37. y=38

288 %2 42. 0.250 km

(1)
(iv)
(i)
(iv)
(i)

(iv)

47. 3ITA  48.

53. JI9F 54.

59. I&
PIGGIe! (ii)
e W)
e (ii)
e V)
e (ii)
e W)

y=30 64. x=128

448 HAf 69.

@ %=K (i) k=

3

T9000 73. 8.75cm
() & @) s (iii) =

454 yys u=fiTeRt TIUT - Ham 8

(@) 4. (d) 5. (a) 6. (@
(d) 10. (b) 11. (o) 12. (a)
(d) 16. (b) 17. en

20. Yfqem, gfdetdd:
23, e 24. yfqema:

300 27. 96

30. ab, fe@s 31. U

1 . .
34.9.6km 35. 2Zaémzaé 15 fa

Q,

b,
b —_— == 2
38. = 39. a, b, 40. 480 cm

43. I 44. JA9T 45. JA9A
FET 49, 93 50. 3@F 5B1l. 3ITA
qq 55. ¥ 56. 3ITA bB7. 3ITA

et (iii) wfaerg (Tgam)
e

e (iii) g

HE TEl

HE TR (i) wfretm

e

3
65. 1=40 66. x=20 67. 39§

540 K 70. 96 km/h

) l=11 (@GFv)m=24

74.x=72, y=4575. 280 m76. 60l

12/04/18



Tfura

78. () 27/2=p, 36/13=q, 108/25=r

(ii) x = 45, y=72, z=9

(iii) 1 = 12, m=20/3, n=12/5
79. (i) 540 (ii) 60 m 80. 12 979 81. 34800
82. 9m 83. 25 fH
84. (i) fagw A, (ii) fagor D, (iii) fago F, (iv) fago G

g § 999 gomt e 1 D.

30 it T T

75 THE T & oo

85. ST (=12), el (=20), ¥ (=16)
FA AMT=12 + 20 + 16 = 48
FAI:P: Fa AT =12:48=1:4
FAI: B:Fa amm =20:48=5: 12
FAII: W : Fa a9 =16:48=1:3
YA IV:P:B:=12:20=3:5
P IV:P:W:=12:16=3:4
86. 5 feral 87. 11 T 88.21 =afd@ 89. 5km 90. 9.00 ¥m:
91. 1-H, 2-D, 4-F
5-C 6-A 8-E

tIJC)

3 -
7 -
x 9.
92. 60 g 93. 35 km 94. 24.9m [ 2—=?]

95. HaH & TeiteeX C (I113 m/sec)

TIY o9 el D (el 7m/sec)
T B & fau D, 3 = 2.29 km
Tefae C & faw D = 1.820 km
96. 37.5m 97. 5 %U 98. &, k=1/4 99. 0.6 ¥%s
100. p%
101. (a) 10: 7 (b) 7: 17 (c) 98 wreht Hfsai 102. FHHUE 120 km.
103.1/2 &9 Td Y&+ a5
1 %9 S 1 A
1/6 &9 =+t @1 919
1/2 S 999 Y& & dd




SAEHTAT

2/3 %9 gt
3/2 F€t TE @HR

1/2 3R 999 9%

104.8 7T 3=A9% 105, 125 Hia 106. (a) T 425 (b) 480 WX
(D) 3TYANT, B 3T uelt
4. wEag
THA CiEE)

1 Directly 2 Inverse

4 Unitary 3 Equivalent

5 Less 6 Constant

7 Proportion 7 Product

9 Decrease 8 Increases
gahts 11
1. (0 2. (0 3. (b) 4. (a) 5. (b 6. (o
7. (d) 8. (a) 9. (b) 10. (o) 11. (o) 12. (d)
13. (o) 14. (o) 15. (a) 16. (b) 17. (o) 18. (a)
19. (o) 20. (c) 21. (a) 22. (a) 23. (o) 24. (a)
25. (¢) 26. (a) 27. (o) 28. (o) 29. 24 30. I

1

31. 10a? 32. 47 33. h® 6h%34. 1 35. 50% 36. %Cf

1
37. nb*  38. - (h,+h)d 39. I 40. 3, TH

41. A, fafv=1 42, 99 43.2nrh 44. 27nr (r+ h)
45. nrth 46, fa=d 47. T 48, WAE 49, A
50. I& 51. 3:1 52. 36:1 53. ¥& 54. I BH. JITA

56. JIHTA 57. J¥F bB8. A 59. JHFA 60. AT 61. JIHF

1 .
62. Eﬁqmso@m 63. 15m 64. 1050m?2 65. T 528

66. (1)352.8, 468.3m? (2) 106.3m?, 102.80m? (3) 13.35m?, 235.6m?
67. 10m 68. 26 min 24 sec 69. 7:8 70. 84 m 71. 302m

456 YT USfiteRr TIUTA - el 8
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72.
76.
79.
84.

45cm 73. 0.636 km

53000 = 3T 77.
240 m? 80. 600 m?81.
228.85 cm? 85.

3

86. (a) % 87.

(b) 6y°

90.
92,
93.
96.
99.
103.
107.

r=21cm, h=14 cm

AR w1 27 T
22.68m?,
4500 m?
1400 cm?
1440 108.

22680 L

1848 cm? 109

110. r=0.07m, 0.44m?

112. V=3850cm3, A=110cm?

30100 = TS
13046 cm? 82.72 cm? 83. 199.5 cm?
88.28 cm?

1:5 88.

94. h=20cm
97. 641 98.6752 cm?®
100. 1742.72 cm?

104. B W9 105.200 m?®

111.

Tfura

75.

74. 0.264 km/hour 13 m

78. 432m?

1:2n 89. 43.12 m?

91.V=11440 cm? Y R=91520 g
(@) TR =T T T (b) TR 1 3T (¢) TR o1 Toh-<iems

95. 13280 cm?

101. 0.78 m 102. 42038.857
106. 1A

.25 dm, 20 dm, 15 dm

1
()27 T (b) 64 T

113. 44.55 ©iX

114.r=8cm, A=603.428 cm? 115. 11180400 cm?, 11.180400 cm3
116. 6216001 117. 1000 118. h=8m,b=10m 119. 1:1
120. 6500 cm® 121. 3 cm? 122. 2016 cm? 123. 2042
124. 401.2 cm? 125. 70 cm 126. 5082 cm?®, 3811.5 cm?
zehtE 12

1. b 2. d 3. c 4. c 5. c 6. a
7. d 8. b 9. c 10. d 11. @ o™

12. omei@ 13, x @R yl4. y-31el 15, x-318l y-31a 16, 3G

17. x 18. x-a&d 19. 2 20. 3@ 21. 4

22. x-fwms/q+ 23. (5, 4)

24. y-fRwm® /=i 25. 7o 935 26. 9@ 27. §A

28. JATF 29, I 30. FFF 31. 94 32. 93 33. JATF
34. 93 35. (i) d, (i) f (iii) e (@{v) a V)b (vi) c

SaHTeT 457




SAEHTAT

36.
37.

38.

40.

41.

43.

44.

47.

48.

49.

50.
51.

52.
53.

(a) ii (b) iii (c) i (d) v (e) vi
(@ F (2, 0) (b) A (O, 4) () H(5, 1)
(d) C (2, 6) (e) E(3,3)
A (0, 7.5) B (4, 5) C (7.5, 2.5)
D (11, 0) E (14.5, 6.5) F (18, 9.5)
(@) (A, 9 (b) @R, =) () (0,8) (A (c, ¢
(@ 7,(b)5, (c) O 42. ()5 b) 0 (c) 7
() = (b) &, = (c) T, e
x|1] 2] 3] 4 45. &
y|3| 6] 9|12 46. ()70 (b) 5
(a) THEHM =M
(b) THEHM Il W Terdl © 3R STk 915 fag| § 1 S 2
(c) /EHH el | werd @ iR R+ fagm & o1 s R
@fx 0] 1| 2| 3
y 4| 7]10
b)x [1 ] 2] 4| 6
y 0O 1] 3
@|x| o] 1
yl| o 1
M x| O 3
yl| 2 4| 6| 8
(@) 264 3%E (b) r = 35 T
(a) T HEE TRl § a9EE °C §

(b) Y™ HwTE () 9¥e (d) haR
(€) W& HwE - 37°C, TEU H@E - 33°C

(f) faar (@) FHem

(@) e (b) #HE RELS (d) 250 (e) 125

(a) Tifen g = fafv= 3= o faf= 10 9§ 9 o et

458 uvT uSfteRt TIUTA - el 8

() iv

(0 2/3
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Tfura

(b) TTfoe (c) AUSH e wifve
(d) #FE T (e) 6 () I wEH (g 2= 1, Tfog
54. (A) (1, 1) E (5, 1) I(4,4)
(B) (3. 0) F (6. 3) J (4, B)
(C) (4. 2) G (5.5) K (3, 6)
(D) (2. 3) H (4, 3) L (2, 6)
(M) (1, 5) 0 (2, 4) Q (0, 5)
(N) (2, 5) P (1, 2)
55. (a) 10 am (b) 16 km (c) T T W feer 2
(d) 40 km (e) 24 km () 2 pm
(¢) 4 km/h, 0 km/h (h) 10 p.m.
56. (a) p=6 b)g=4
57. (a) & T H 0°C § 3=gqH draHH
(b) @R, 25° C (c) 9&@R
(d) Ihar
58. (a) 80 km (b) 5 () 2= (d) 120 fw=t
(e) 6
59. D (4. 4) 60. D (3,0)No 61. (2,2
62. (a) faskar A (b) aEr () wfeR & Foem
(d) e (e) PR IR FeER
63. (a) 7°C (b) 6 a.m. (c) 3°C
(d) 5°cto8c (¢) Wd:8 3Rk d=
64. (a) 90 cm (b) 20cmmore (¢) 494 9 699 o &g §
65. (a) T 25 min 3R 40 minutes o == Zaq WIfq Hl 2
(b) 2.4 km\h
66. (a) E (0.5, 0.5) J (2, 1.5)
F (2, 2) K (8, 6)
G (4, 2) L (16. 6)
H (2.5, 0.5) M (10, 1.5)

67. (6, 0) at x 31& (0, 6) aty &




SAEHTAT

68. (a) 0-20%&e (b) 30 Wehs (€) 20°C @
(d) 100°C (e) 100°
69. (a) W@ ™
(b) € Tk WR ¥ faftrs wwal W =afeaai 1 Gen <3iiar 2
(© 1p.m. (d 59 %9 (e) 20
70. (a) 5.30 a.m., 6 p.m. (b) 12:30 =2
(c) 3 ST e (d) 3%
71. (a) 8:45 am for 15 fame (b) fass o
(c) 9.00 am. ™ (d) 10 km.
() 10 km.

72. 3@ 15 km.  73. 0@
74. (a) 18 a4, 17 94 ORSEED

75. (a) @ysTe@
(c) 0¥ 10 (YoM 10 foe)
76. (x| 1 21 3 4 5

y| 1255 |10 | 15| 20

77. (a) fushan 1990, =FaH 2000 (b) 1996 (c) 4.7%
78. (a)| e 1|2 | 3| 4|5 |6
ERIEE 4|7 101316 | 19
(b) rer@ © Wiy=3x+1
d[x[7 7] 8
y| 22| 25

79. (@) y =3x-1

(c)[x|3 |8
yl 8 | 23
80. (i) U, T&f (ii) =&Y C (7, 5) D (5, 7) (iii) (2, 7)
(iv) (7, 3) (5, B) (v) (7.5, 3) 2 km

460 wvT USfiteRt TIUTA - el 8
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(vi) (9, 4) (10, 4) (11, 5) 10. (7, 8) (8, 8) (9. 8) (vii) (5. 3) (6, 2) (7. 2)
81. a) TUHH # dgaE UWeH ok foU

b) IHF Te 1:00 & q wgar 8 3R R sear B

c) TR 12 & 19°C., M\ 8 = 10°C.

82. a) E@RF b) D ¢) BS3RF, C3RE
d C,D.E e) A ) ASRC

83. (a) T 3R 9N
(b) D-YGWd B-7a A - ARASC - Fal

84. a) TH b) @ c) A
d d3 e) ITA

85. | STt 2@ w1 A s |1 |2 |3 |4 |5 |10 [100
Ths IR B W | x [ 24 [32 |40 | 48 |56 |96 [816
(b) eTerE
(c) &

86.| W 4 6 8

ThS AEA| 9 15 | 21
ST e 1 6 15

2. HIGAS

e

1. Bar graph 2. y-axis 3. Linear graph

4. Origin 5. Coordinates 6. right

7. abcissa

Tohid

8. axes 9. Graph 10. Cartesia 11. Line
12. Ordinate 13. Whole 14. Histogram

15. Gaps 16. Horizontal 17. x-axis




SAEHTAT

Tas 13

1. (0 2. (b) 3. (o) 4. (o) 5. (0) 6. (0)

7. (d) 8. (b) 9. (a) 10. (d) 11. (b) 12. (a)
13. (o) 14. (a) 15. (o) 16. (a) 17. (b) 18. 9

19. 1,4,7 20. 1 21. 11 22. 9 23. 11

24. A=6,B=3 25. A=1,B=6 26. B=7 27. x=0
28. 0 11 & T 29. 11 30. (a+c-b 31. 5
32. WM, A=3,B=6 33. tul 34. ¥& 35. @A 36. IEA
37. 9 38. ¥¥ 39. A 40. ¥ 41, IEA 42. A
43. IEA 44, A 45. a=3 46. P=63RQ=9  47. 12
48. 33033, 66066, 99099 49. A=9,Z2=8,X=1

50. A=8,B=1,C=3 B5l1. A=6,B=7,C=152. A=6,B=9.

53. A=5,B=6,C=7 54. A=9,B=1 55. A=8,B=9

56. A=7,B=8,C=4 57. A=2,B=5 58. A=9,B=1,C=8
59. A=7,B=2 60. A=7,B=2,C=3,D=1 61. A=9
62. X=8 63. k@03, 6, 9T 64. y=5 65. x=6

66. 2 67. S=8,L=5M=9,G=1 68.5S=6,M=9,B=1,U=0
69. 96, 85, 74, 63, 52, 41, 30

70. (a)555555555 (b) 777777777 (c) 72  (d) 81

71. )P=7,Q=4 i) M=7,L=4 72.B=4 73. A=4

74. y & =FAE 0 7
(D) U=, Bt 3R wRferat

3. whigae wRelt
CiEE) THA
A 7 (F) 4
B) O (G) 8
(C) 4 H) 9
(D) 2 m 1
(E) O J) o

462 uyA y=idTeRt TfUTT - e 8
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